A SALUTE TO RICHARD RODGERS

( A medley including: Song of the High Seas. Oklahoma. The Sound of

Mousic. Bewitched. The Carousel Waltz. Climb Ev'ry Mountain)

3rd Violin ,
"Song of the High Seas" Arranged by TED RICKETTS
Moderatsely, but tempestuous in spirit
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3rd Violin
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"The Sound Of Music"

Broadly
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"Bewitched

Rubato with feeling
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"The Carousel Waltz'

13
LT

—

™
n

(@)
M

|

i
[
.10}

Fe? 20

M

dim.

mf =

Vv

A

7=

N

118"

f) 4
0 4




NN
=)
ey
a o E .
)
5 I
=]
= AH)
=]
W_b =\ H
=
< 5
Py
b
=

0

3rd Violin
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Climb Ev'ry Mountain"

Broadly
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